# RATIONAL POINTS ON THREE SUPERELLIPTIC CURVES 

ZHONGYAN SHEN and TIANXIN CAI ${ }^{\boxtimes}$

(Received 11 May 2011)


#### Abstract

In this paper, we obtain all rational points $(x, y)$ on the superelliptic curves $$
\begin{gathered} y^{k}=x(x+2), \\ y^{k}=x(x+2)(x+3), \\ y^{k}=x(x+1)(x+3) . \end{gathered}
$$


2010 Mathematics subject classification: primary 11D41; secondary 11D45, 11D72.
Keywords and phrases: superelliptic curves, rational points, Diophantine equations.

## 1. Introduction

In 1975, Erdős and Selfridge [4] proved that the superelliptic curve

$$
\begin{equation*}
y^{k}=(x+1) \cdots(x+l), \quad x \geq 0, l \geq 2, k \geq 2, \tag{1.1}
\end{equation*}
$$

has no integral solution. This put an end to the old question whether the product of consecutive positive integers could ever be a perfect power. In 1999, Sander [7] raised the following conjecture.

Conjecture. For $k \geq 2$ and $l \geq 2$, all rational points $(x, y)$ on (1.1) are the trivial ones with $x=-j(j=1, \ldots, l)$ and $y=0$, except for the case $k=l=2$ where we have precisely those satisfying

$$
x=\frac{2 c_{1}^{2}-c_{2}^{2}}{c_{2}^{2}-c_{1}^{2}}, \quad y=\frac{c_{1} c_{2}}{c_{2}^{2}-c_{1}^{2}}
$$

with coprime integers $c_{1} \neq \pm c_{2}$.
Sander [7] himself proved that the conjecture is true for $k \geq 2$ and $2 \leq l \leq 4$. Later, Lakhal and Sander [5] proved that it is true for $k \geq 2$ and $l=5$.

[^0]Meanwhile, let $x \geq 1, \quad l \geq 3, \quad k \geq 2$, and $0 \leq d_{1}<d_{2}<\cdots<d_{l-1}<l$ be integers, Erdős and Selfridge [4] also considered the superelliptic curve

$$
\begin{equation*}
y^{k}=\left(x+d_{1}\right) \cdots\left(x+d_{l-1}\right) \tag{1.2}
\end{equation*}
$$

and conjectured that there are only solutions of (1.2) with $l \geq 4$ given by

$$
\frac{6!}{5}=12^{2}, \quad \frac{10!}{7}=720^{2}, \quad \frac{4!}{3}=2^{3}
$$

In 2003, Saradha and Shorey [8, 9] proved this result. One year later, Bennett [1] found all the 30 integral solutions of $b y^{k}=\left(x+d_{1}\right) \cdots\left(x+d_{l-1}\right)$ with $l=3$ and $k \geq 3$, $l \in\{4,5\}$ and $k \geq 2$, and $P(b) \leq l$, where $P(b)$ is the greatest prime divisor of $b$.

The purpose of this paper is to obtain all the rational points on superelliptic curves (1.2) for $k \geq 2$ and $l \in\{3,4\}$.

Theorem 1.1. For $k \geq 3$, the only rational points ( $x, y$ ) on the curve

$$
\begin{equation*}
y^{k}=x(x+2) \tag{1.3}
\end{equation*}
$$

are the trivial ones with $x=0$ or $-2, y=0$ for $k \geq 3$ and $x=-1, y=-1$ for all odd $k \geq 3$ and $x=-4$ or $2, y=2$ for $k=3$. For $k=2$, all rational solutions of (1.3) are given by

$$
x=\frac{2 c_{1}^{2}}{c_{2}^{2}-c_{1}^{2}}, \quad y=\frac{2 c_{1} c_{2}}{c_{2}^{2}-c_{1}^{2}},
$$

with coprime integers $c_{1} \neq \pm c_{2}$.
Theorem 1.2. For $k \geq 2$ and $k \neq 3$, the only rational points $(x, y)$ on the curves

$$
\begin{align*}
& y^{k}=x(x+2)(x+3),  \tag{1.4}\\
& y^{k}=x(x+1)(x+3) \tag{1.5}
\end{align*}
$$

are the trivial ones with $y=0$.
Corollary 1.3. If $X^{3}+Y^{3}=6 Z^{3}$ has finitely many solutions for certain pairwise coprime integers $X, Y, Z$, then there are finitely many rational points $(x, y)$ on the curves (1.4) and (1.5) for $k=3$.

Corollary 1.4. If $X^{3}+2 Y^{3}=3 Z^{3}$ has infinitely many solutions for pairwise coprime integers $X, Y, Z$, then there are infinitely many rational points $(x, y)$ on the curves (1.4) and (1.5) for $k=3$.

## 2. Lemmas

Lemma 2.1 [2, 6]. Let $p \geq 3$ be a prime. Then

$$
X^{p}+Y^{p}=2 Z^{p}
$$

has only trivial solutions.

Lemma 2.2 [3]. The Diophantine equations

$$
X^{4} \pm Y^{4}=2 Z^{2}
$$

have only trivial solutions.
Lemma 2.3 [6]. Let $p \geq 3$ be a prime, $2 \leq \alpha<p$. Then

$$
X^{p}+Y^{p}=2^{\alpha} Z^{p}
$$

has only trivial solutions.
Lemma 2.4. The Diophantine equation

$$
4 X^{4}+Y^{2}=Z^{4}, \quad(Y, Z)=1
$$

has only trivial solutions.
Proof. When $(Y, Z)=1$, it is well known that

$$
2 X^{2}=2 u v, \quad Y=u^{2}-v^{2}, \quad Z^{2}=u^{2}+v^{2}
$$

for some coprime integers $u, v$ satisfying $2 \mid u v$. Hence $u=s^{2}, v=t^{2}$ or $u=-s^{2}, v=-t^{2}$ by $X^{2}=u v, Z^{2}=s^{4}+t^{4}$, which has only trivial solutions. Therefore $4 X^{4}+Y^{2}=$ $Z^{4},(Y, Z)=1$ has only trivial solutions.

Lemma 2.5 [3]. If $X, Y$ are integers and $X Y \neq 0$. Then

$$
X^{2}+2 Y^{2}, \quad X^{2}+3 Y^{2}
$$

and

$$
X^{2}-Y^{2}, \quad X^{2}-4 Y^{2}
$$

are not both squares.
Lemma 2.6 [3]. A sufficient and necessary condition for integral solutions of $X^{2}+Y^{2}=$ $m Z^{2}, X Y Z \neq 0$, is that $m$ be a sum of two squares.
Lemma 2.7 [1]. If $s$ and $t$ are coprime positive integers with $s t=2^{\alpha} 3^{\beta}$, where $\alpha$ and $\beta$ are nonnegative integers such that either $\alpha=0$ or $\beta=0$ or $\alpha \geq 4$, then, if $n \geq 5$ is prime, the equation

$$
s X^{n}+t Y^{n}=Z^{n}
$$

has no solution in coprime nonzero integers $(X, Y, Z)$ with $|X Y|>1$.
Lemma 2.8 [10]. The Diophantine equations

$$
\begin{gathered}
X^{3}+Y^{3}=3 Z^{3} \\
X^{3}+Y^{3}=18 Z^{3} \\
2 X^{3}+9 Y^{3}=Z^{3} \\
4 X^{3}+9 Y^{3}=Z^{3}
\end{gathered}
$$

have only trivial solutions.

Lemma 2.9 [10]. A rational solution of the equation

$$
a X^{3}+b Y^{3}+c Z^{3}=0, \quad a b c \neq 0
$$

with $X Y Z \neq 0$, leads to a rational solution of

$$
X^{3}+Y^{3}=a b c Z^{3}
$$

with $X Y Z \neq 0$.

## 3. Proofs of the theorems

Let $x=a / b$ and $y=c / d$ for some integers $a, c$ and positive integers $b, d$ satisfying $(a, b)=(c, d)=1$. Then (1.2) is equal to $c^{k} b^{l-1}=d^{k}\left(a+d_{1} b\right) \cdots\left(a+d_{l-1} b\right)$. From $(a, b)=1$, we get $\left(b, a+d_{i} b\right)=1$, whence $b^{l-1} \mid d^{k}$. Obviously, $(c, d)=1$ implies $\left(c^{k}, d^{k}\right)=1$, so $d^{k} \mid b^{l-1}$. We conclude that $b^{l-1}=d^{k}$, so (1.2) is equal to

$$
c^{k}=\left(a+d_{1} b\right) \cdots\left(a+d_{l-1} b\right), \quad d^{k}=b^{l-1} .
$$

Proof of Theorem 1.1. It is easy to see that (1.3) is equal to

$$
c^{k}=a(a+2 b), \quad d^{k}=b^{2}
$$

Clearly, $(a, a+2 b)=(a, 2)$.
Case 1. $(a, 2)=1$. If $k \geq 3$ is odd, then we have $a=c_{1}^{k}$ and $a+2 b=c_{2}^{k}$ for certain coprime integers $c_{1}, c_{2}$ satisfying $c_{1} c_{2}=c$. It clearly follows for a suitable integer $b_{1}$ that $b=b_{1}^{k}$, hence

$$
\begin{equation*}
c_{1}^{k}+2 b_{1}^{k}=c_{2}^{k} . \tag{3.1}
\end{equation*}
$$

Since $k$ has a prime factor $p \geq 3$, (3.1) is of type $X^{p}+2 Y^{p}=Z^{p}$, which has only trivial solutions by Lemma 2.1, hence $c=0$ or $b=d=1, a=c=-1$.

If $k$ is even, we have $b=d^{k / 2}, a= \pm c_{1}^{k}$ and $a+2 b= \pm c_{2}^{k}$ (where + corresponds to ,+- corresponds to - ) for some coprime nonnegative integers $c_{1}, c_{2}$ and $\pm c_{1} c_{2}=c$, hence

$$
\begin{equation*}
\pm c_{1}^{k}+2 d^{k / 2}= \pm c_{2}^{k} \tag{3.2}
\end{equation*}
$$

If $k$ has a prime factor $p \geq 3$, then (3.2) is of type $X^{p}+2 Y^{p}=Z^{p}$, which has only trivial solutions by Lemma 2.1, hence $c=0$.

It remains to consider $k=2^{t}$ for some $t \geq 1$. For $t \geq 2$, Equation (3.2) is of type $\pm c_{1}^{4}+2 d^{2}= \pm c_{2}^{4}$ and has only trivial solutions by Lemma 2.2.

We are left with the case $k=2$. From the above, we have $b=d, a= \pm c_{1}^{2}$ and $a+2 b= \pm c_{2}^{2}$ with $\left(c_{1}, c_{2}\right)=1$, hence $a= \pm c_{1}^{2}$ and $b=d=\left( \pm c_{2}^{2} \mp c_{1}^{2}\right) / 2$. Therefore

$$
x=\frac{a}{b}=\frac{2 c_{1}^{2}}{c_{2}^{2}-c_{1}^{2}}, \quad y=\frac{c}{d}=\frac{2 c_{1} c_{2}}{c_{2}^{2}-c_{1}^{2}},
$$

with coprime integers $c_{1} \neq \pm c_{2}$.
Case 2. $(a, 2)=2,(b, 2)=1$. If $k \geq 3$ is odd, we have $a=2 c_{1}^{k}, a+2 b=2^{k-1} c_{2}^{k}$ or $a=2^{k-1} c_{1}^{k}, a+2 b=2 c_{2}^{k}$ for $\left(c_{1}, c_{2}\right)=1$ satisfying $2 c_{1} c_{2}=c$. It clearly follows for a
suitable integer $b_{1}$ that $b=b_{1}^{k}$, hence

$$
\begin{equation*}
c_{1}^{k}+b_{1}^{k}=2^{k-2} c_{2}^{k} \tag{3.3}
\end{equation*}
$$

or

$$
\begin{equation*}
2^{k-2} c_{1}^{k}+b_{1}^{k}=c_{2}^{k} \tag{3.4}
\end{equation*}
$$

Since $k$ has a prime factor $p \geq 3$, both (3.3) and (3.4) are of type $X^{p}+Y^{p}=2^{p-2} Z^{p}$, which has only trivial solutions by Lemmas 2.1 and 2.3, hence $c=0$ for odd $k \geq 3$ and $b=d=1, a=2$ or $-4, c=2$, for $k=3$.

If $k$ is even, we have $b=d^{k / 2}, a= \pm 2 c_{1}^{k}$ and $a+2 b= \pm 2^{k-1} c_{2}^{k}$ or $a= \pm 2^{k-1} c_{1}^{k}$, $a+2 b= \pm 2 c_{2}^{k}$ for $\left(c_{1}, c_{2}\right)=1$ satisfying $\pm 2 c_{1} c_{2}=c$, hence

$$
\begin{equation*}
\pm c_{1}^{k}+d^{k / 2}= \pm 2^{k-2} c_{2}^{k} \tag{3.5}
\end{equation*}
$$

or

$$
\begin{equation*}
\pm 2^{k-2} c_{1}^{k}+d^{k / 2}= \pm c_{2}^{k} \tag{3.6}
\end{equation*}
$$

If $k$ has a prime factor $p \geq 3$, then both (3.5) and (3.6) are of type $X^{p}+Y^{p}=2^{p-2} Z^{p}$, which has only solutions satisfying $c_{1} c_{2}=0$ or $b_{1}\left|c_{1} c_{2}\right|=1$ for $k=3$ by Lemma 2.3, hence $c=0$.

It remains to consider $k=2^{t}$ for some $t \geq 1$. For $t \geq 2$, (3.5) is of type $\pm c_{1}^{4}+d^{2}=$ $\pm 4 c_{2}^{4}$, which is equal to $-c_{1}^{4}+d^{2}=-4 c_{2}^{4}$ by taking the equation $\bmod 4$. Equation (3.6) is of type $\pm 4 c_{1}^{4}+d^{2}= \pm c_{2}^{4}$, which is equal to $4 c_{1}^{4}+d^{2}=c_{2}^{4}$ by taking the equation $\bmod 4$. Hence (3.5) and (3.6) have only trivial solutions by Lemma 2.4, hence $c=0$.

We are left with the case $k=2$. From the above, we have $b=d, a= \pm 2 c_{1}^{2}$ and $a+2 b= \pm 2 c_{2}^{2}$ with $\left(c_{1}, c_{2}\right)=1$, hence $a= \pm 2 c_{1}^{2}$ and $b=d= \pm c_{2}^{2} \mp c_{1}^{2}$. Therefore,

$$
x=\frac{a}{b}=\frac{2 c_{1}^{2}}{c_{2}^{2}-c_{1}^{2}}, \quad y=\frac{c}{d}=\frac{2 c_{1} c_{2}}{c_{2}^{2}-c_{1}^{2}},
$$

with coprime integers $c_{1} \neq \pm c_{2}$.
This completes the proof of Theorem 1.1.
Proof of Theorem 1.2. For a positive integer $k$, let

$$
k^{*}= \begin{cases}k, & 3 \nmid k \\ \frac{k}{3}, & 3 \mid k\end{cases}
$$

It is easy to see that (1.4) is equal to

$$
c^{k}=a(a+2 b)(a+3 b), \quad d^{k}=b^{3} .
$$

Clearly, $(a+2 b, a+3 b)=1,(a, a+2 b)=1$ or $2,(a, a+3 b)=1$ or 3 .
Case 1. $(a, a+2 b)=1,(a, a+3 b)=1, a$ is odd. If $k$ is odd, and $k$ has a prime factor $p \geq 5$ or $9 \mid k$,

$$
\begin{equation*}
a=c_{1}^{k}, \quad a+2 b=c_{2}^{k}, \quad a+3 b=c_{3}^{k}, \tag{3.7}
\end{equation*}
$$

for certain pairwise coprime integers $c_{1}, c_{2}, c_{3}$ satisfying $c_{1} c_{2} c_{3}=c$. It clearly follows for a suitable integer $b_{1}$ that $b=b_{1}^{k^{*}}$. As above, this implies, with the second and third equations in (3.7),

$$
b_{1}^{k^{*}}+c_{2}^{k}=c_{3}^{k},
$$

which is of type $X^{p}+Y^{p}=Z^{p}, p \geq 3$, which has only trivial solutions by Fermat's last theorem, hence $c=0$.

If $k$ is even, then $k^{*}$ is even. We have (3.7) or

$$
\begin{equation*}
a=-c_{1}^{k}, \quad a+2 b=-c_{2}^{k}, \quad a+3 b=c_{3}^{k}, \tag{3.8}
\end{equation*}
$$

for certain pairwise coprime integers $c_{1}, c_{2}, c_{3}$ satisfying $\pm c_{1} c_{2} c_{3}=c$. Putting $b=b_{1}^{k^{*}}$ and the first equation in (3.7) and (3.8) into the second and third equations in (3.7) and (3.8), we obtain

$$
\begin{gather*}
c_{1}^{k}+2 b_{1}^{k^{*}}=c_{2}^{k}, \quad c_{1}^{k}+3 b_{1}^{k^{*}}=c_{3}^{k},  \tag{3.9}\\
-c_{1}^{k}+2 b_{1}^{k^{*}}=-c_{2}^{k}, \quad-c_{1}^{k}+3 b_{1}^{k^{*}}=c_{3}^{k} . \tag{3.10}
\end{gather*}
$$

Equation (3.9) implies that both $X^{2}+2 Y^{2}$ and $X^{2}+3 Y^{2}$ are squares, because $a$ is odd, while (3.10) is impossible by taking the equation mod 4 . Hence $c=0$ by Lemma 2.5.

Case 2. $(a, a+2 b)=2,(a, a+3 b)=1, a$ is even, $b$ is odd. If $k$ is odd, and $k$ has a prime factor $p \geq 5$ or $9 \mid k$,

$$
\begin{equation*}
a=2 c_{1}^{k}, \quad a+2 b=2^{k-1} c_{2}^{k}, \quad a+3 b=c_{3}^{k}, \quad 2 \nmid b c_{1} c_{3} \tag{3.11}
\end{equation*}
$$

or

$$
\begin{equation*}
a=2^{k-1} c_{1}^{k}, \quad a+2 b=2 c_{2}^{k}, \quad a+3 b=c_{3}^{k}, \quad 2 \nmid b c_{2} c_{3} \tag{3.12}
\end{equation*}
$$

for certain pairwise coprime integers $c_{1}, c_{2}, c_{3}$ satisfying $2 c_{1} c_{2} c_{3}=c$. Putting $b=b_{1}^{k^{*}}$ and the first equation in (3.11) and (3.12) into the second equation in (3.11) and (3.12) respectively, we obtain $c_{1}^{k}+b_{1}^{k^{*}}=2^{k-2} c_{2}^{k}$ and $2^{k-2} c_{1}^{k}+b_{1}^{k^{*}}=c_{2}^{k}$, which are of type $X^{p}+Y^{p}=2^{\alpha} Z^{p}, p \geq 3,1 \leq \alpha \leq p-2$, which has only trivial solutions by Lemmas 2.1 and 2.3. Hence $c=0$. If $k$ is even, then $k^{*}$ is even. We have (3.11) or (3.12) or

$$
\begin{equation*}
a=-2 c_{1}^{k}, \quad a+2 b=-2^{k-1} c_{2}^{k}, \quad a+3 b=c_{3}^{k}, \quad 2 \nmid b c_{1} c_{3} \tag{3.13}
\end{equation*}
$$

or

$$
\begin{equation*}
a=-2^{k-1} c_{1}^{k}, \quad a+2 b=-2 c_{2}^{k}, \quad a+3 b=c_{3}^{k}, \quad 2 \nmid b c_{2} c_{3} \tag{3.14}
\end{equation*}
$$

for certain pairwise coprime integers $c_{1}, c_{2}, c_{3}$ satisfying $\pm 2 c_{1} c_{2} c_{3}=c$. In (3.11) and (3.12), we obtain $c_{1}^{k}+c_{3}^{k}=2^{k-2} 3 c_{2}^{k}$ and $2^{k-2} c_{1}^{k}+c_{3}^{k}=3 c_{2}^{k}$ respectively since $a+2(a+3 b)=3(a+2 b)$, which are of type $X^{2}+Y^{2}=3 Z^{2}$. In (3.13) and (3.14), we obtain $c_{3}^{k}+3 \cdot 2^{k-2} c_{2}^{k}=c_{1}^{k}, c_{3}^{k}+2^{k-1} c_{2}^{k}=b_{1}^{k^{*}}$ and $c_{3}^{k}+3 c_{2}^{k}=2^{k-2} c_{1}^{k}, c_{3}^{k}+2 c_{2}^{k}=b_{1}^{k^{*}}$ respectively by $2(a+3 b)-3(a+2 b)=-a, \quad(a+3 b)-(a+2 b)=b$, which implies that both $X^{2}+2 Y^{2}$ and $X^{2}+3 Y^{2}$ are squares. Hence $c=0$ by Lemmas 2.6 and 2.5.

Case 3. $(a, a+2 b)=1,(a, a+3 b)=3, a$ is odd. If $k$ is odd, and $k$ has a prime factor $p \geq 5$ or $9 \mid k$,

$$
\begin{equation*}
a=3 c_{1}^{k}, \quad a+2 b=c_{2}^{k}, \quad a+3 b=3^{k-1} c_{3}^{k} \tag{3.15}
\end{equation*}
$$

or

$$
\begin{equation*}
a=3^{k-1} c_{1}^{k}, \quad a+2 b=c_{2}^{k}, \quad a+3 b=3 c_{3}^{k}, \tag{3.16}
\end{equation*}
$$

for certain pairwise coprime integers $c_{1}, c_{2}, c_{3}$ satisfying $3 c_{1} c_{2} c_{3}=c$. Putting $b=b_{1}^{k^{*}}$ and the first equation in (3.15) and (3.16) into the third equation in (3.15) and (3.16) respectively, we obtain $c_{1}^{k}+b_{1}^{k^{*}}=3^{k-2} c_{3}^{k}$ and $3^{k-2} c_{1}^{k}+b_{1}^{k^{*}}=c_{3}^{k}$, which are of type $X^{p}+Y^{p}=3^{p-2} Z^{p}, p \geq 3$, which has only solutions with $c=0$ by Lemmas 2.7 and 2.8.

If $k$ is even, then $k^{*}$ is even. We have (3.15) or (3.16) or

$$
\begin{equation*}
a=-3 c_{1}^{k}, \quad a+2 b=-c_{2}^{k}, \quad a+3 b=3^{k-1} c_{3}^{k} \tag{3.17}
\end{equation*}
$$

or

$$
\begin{equation*}
a=-3^{k-1} c_{1}^{k}, \quad a+2 b=-c_{2}^{k}, \quad a+3 b=3 c_{3}^{k}, \tag{3.18}
\end{equation*}
$$

for certain pairwise coprime integers $c_{1}, c_{2}, c_{3}$ satisfying $\pm 3 c_{1} c_{2} c_{3}=c$. In (3.15) and (3.16), we obtain $c_{2}^{k}+b_{1}^{k^{*}}=3^{k-1} c_{3}^{k}$ and $c_{2}^{k}+b_{1}^{k^{*}}=3 c_{3}^{k}$ respectively by $(a+2 b)+$ $b=a+3 b$, which are of type $X^{2}+Y^{2}=3 Z^{2}$. In (3.17) and (3.18), we obtain $c_{2}^{k}+$ $2 \cdot 3^{k-2} c_{3}^{k}=c_{1}^{k}, c_{2}^{k}+3^{k-1} c_{3}^{k}=b_{1}^{k^{*}}$ and $c_{2}^{k}+2 c_{3}^{k}=3^{k-2} c_{1}^{k}, c_{2}^{k}+3 c_{3}^{k}=b_{1}^{k^{*}}$ respectively by $2(a+3 b)-3(a+2 b)=-a,(a+3 b)-(a+2 b)=b$, which implies that both $X^{2}+2 Y^{2}$ and $X^{2}+3 Y^{2}$ are squares. Hence $c=0$ by Lemmas 2.6 and 2.5.
Case 4. $(a, a+2 b)=2,(a, a+3 b)=3, a$ is even, $b$ is odd. If $k$ is odd, and $k$ has a prime factor $p \geq 5$,

$$
\begin{equation*}
a=6^{k-1} c_{1}^{k}, \quad a+2 b=2 c_{2}^{k}, \quad a+3 b=3 c_{3}^{k}, \quad 2 \nmid b c_{2} c_{3} \tag{3.19}
\end{equation*}
$$

or

$$
\begin{equation*}
a=2^{k-1} \cdot 3 c_{1}^{k}, \quad a+2 b=2 c_{2}^{k}, \quad a+3 b=3^{k-1} c_{3}^{k}, \quad 2 \nmid b c_{2} c_{3} \tag{3.20}
\end{equation*}
$$

or

$$
\begin{equation*}
a=2 \cdot 3^{k-1} c_{1}^{k}, \quad a+2 b=2^{k-1} c_{2}^{k}, \quad a+3 b=3 c_{3}^{k}, \quad 2 \nmid b c_{1} c_{3} \tag{3.21}
\end{equation*}
$$

or

$$
\begin{equation*}
a=6 c_{1}^{k}, \quad a+2 b=2^{k-1} c_{2}^{k}, \quad a+3 b=3^{k-1} c_{3}^{k}, \quad 2 \nmid b c_{1} c_{3} \tag{3.22}
\end{equation*}
$$

for certain pairwise coprime integers $c_{1}, c_{2}, c_{3}$ satisfying $6 c_{1} c_{2} c_{3}=c$. In the third equation of (3.19) and (3.20), we obtain $2^{k-1} 3^{k-2} c_{1}^{k}+b_{1}^{k^{*}}=c_{3}^{k}$ and $2^{k-1} c_{1}^{k}+b_{1}^{k^{*}}=$ $3^{k-2} c_{3}^{k}$ respectively by the first equation and $b=b_{1}^{k^{*}}$. In (3.21) and (3.22), we obtain $2^{k-1} c_{2}^{k}+b_{1}^{k^{*}}=3 c_{3}^{k}$ and $2^{k-1} c_{2}^{k}+b_{1}^{k^{*}}=3^{k-1} c_{3}^{k}$ respectively by $(a+2 b)+b=a+$ $3 b$, which are all of type $s X^{p}+t Y^{p}=Z^{p}, s t=2^{\alpha} 3^{\beta}, \alpha \geq 4, \beta \geq 0$, hence $c=0$ by Lemma 2.7.

If $k$ is odd, and $9 \mid k$, we obtain $2^{k-2} 3^{k-1} c_{1}^{k}+b_{1}^{k^{*}}=c_{2}^{k}$ by the second equation of (3.19), which is of type $X^{3}+Y^{3}=18 Z^{3}$. We have $2 c_{2}^{k}+b_{1}^{k^{*}}=3^{k-1} c_{3}^{k}$ in (3.20) by $(a+2 b)+b=a+3 b, 3^{k-1} c_{1}^{k}+b_{1}^{k^{*}}=2^{k-2} c_{2}^{k}$ by the second equation of (3.21), which
are of type $2 X^{3}+9 Y^{3}=Z^{3}$. We obtain $2^{k-1} c_{2}^{k}+b_{1}^{k^{*}}=3^{k-1} c_{3}^{k}$ in (3.22) by $(a+2 b)+$ $b=a+3 b$, which is of type $4 X^{3}+9 Y^{3}=Z^{3}$. Hence $c=0$ by Lemma 2.8.

If $k$ is even, then $k^{*}$ is even. We have (3.19) or (3.20) or (3.21) or (3.22) or

$$
\begin{equation*}
a=-6^{k-1} c_{1}^{k}, \quad a+2 b=-2 c_{2}^{k}, \quad a+3 b=3 c_{3}^{k}, \quad 2 \nmid b c_{2} c_{3} \tag{3.23}
\end{equation*}
$$

or

$$
\begin{equation*}
a=-2 \cdot 3^{k-1} c_{1}^{k}, \quad a+2 b=-2^{k-1} c_{2}^{k}, \quad a+3 b=3 c_{3}^{k}, \quad 2 \nmid b c_{1} c_{3} \tag{3.24}
\end{equation*}
$$

or

$$
\begin{equation*}
a=-2^{k-1} \cdot 3 c_{1}^{k}, \quad a+2 b=-2 c_{2}^{k}, \quad a+3 b=3^{k-1} c_{3}^{k}, \quad 2 \nmid b c_{2} c_{3} \tag{3.25}
\end{equation*}
$$

or

$$
\begin{equation*}
a=-6 c_{1}^{k}, \quad a+2 b=-2^{k-1} c_{2}^{k}, \quad a+3 b=3^{k-1} c_{3}^{k}, \quad 2 \nmid b c_{1} c_{3} \tag{3.26}
\end{equation*}
$$

for certain pairwise coprime integers $c_{1}, c_{2}, c_{3}$ satisfying $\pm 6 c_{1} c_{2} c_{3}=c$. We obtain, respectively,

$$
\begin{array}{cc}
-2^{k-2} 3^{k-1} c_{1}^{k}+b_{1}^{k^{*}}=-c_{2}^{k}, & 2 \nmid b_{1} c_{2}, \\
-3^{k-1} c_{1}^{k}+b_{1}^{k^{*}}=-2^{k-2} c_{2}^{k}, & 2 \nmid b_{1} c_{1}, \\
-2^{k-2} \cdot 3 c_{1}^{k}+b_{1}^{k^{*}}=-c_{2}^{k}, & 2 \nmid b_{1} c_{2}, \\
-3 c_{1}^{k}+b_{1}^{k^{*}}=-2^{k-2} c_{2}^{k}, & 2 \nmid b_{1} c_{1}
\end{array}
$$

by the first and second equations from (3.23)-(3.26), since $k$ and $k^{*}$ are even, which are impossible by taking these equations mod 4 .

Similarly, we can prove that the only rational points $(x, y)$ on the curve (1.5) are the trivial ones with $y=0$.

This completes the proof of Theorem 1.2.
We are left with the case $k=3$. For (1.4), by (3.7), (3.11), (3.12), (3.15), (3.16) and (3.19)-(3.22), we obtain, respectively,

$$
\begin{array}{rlll}
a=c_{1}^{3}, & b=d=c_{3}^{3}-c_{2}^{3}>0, & c=c_{1} c_{2} c_{3}, & c_{1}^{3}+2 c_{3}^{3}=3 c_{2}^{3}, \\
a=2 c_{1}^{3}, & b=d=c_{3}^{3}-4 c_{2}^{3}>0, & c=2 c_{1} c_{2} c_{3}, & c_{1}^{3}+c_{3}^{3}=6 c_{2}^{3}, \\
a=4 c_{1}^{3}, & b=d=c_{3}^{3}-2 c_{2}^{3}>0, & c=2 c_{1} c_{2} c_{3}, & 2 c_{1}^{3}+c_{3}^{3}=3 c_{2}^{3}, \\
a=3 c_{1}^{3}, & b=d=9 c_{3}^{3}-c_{2}^{3}>0, & c=3 c_{1} c_{2} c_{3}, & c_{1}^{3}+6 c_{3}^{3}=c_{2}^{3}, \\
a=9 c_{1}^{3}, & b=d=3 c_{3}^{3}-c_{2}^{3}>0, & c=3 c_{1} c_{2} c_{3}, & 3 c_{1}^{3}+2 c_{3}^{3}=c_{2}^{3}, \\
a=36 c_{1}^{3}, & b=d=3 c_{3}^{3}-2 c_{2}^{3}>0, & c=6 c_{1} c_{2} c_{3}, & 3 c_{1}^{3}+2 c_{3}^{3}=c_{2}^{3}, \\
a=18 c_{1}^{3}, & b=d=3 c_{3}^{3}-4 c_{2}^{3}>0, & c=6 c_{1} c_{2} c_{3}, & 3 c_{1}^{3}+c_{3}^{3}=2 c_{2}^{3}, \\
a=12 c_{1}^{3}, & b=d=9 c_{3}^{3}-2 c_{2}^{3}>0, & c=6 c_{1} c_{2} c_{3}, & 2 c_{1}^{3}+3 c_{3}^{3}=c_{2}^{3}, \\
a=6 c_{1}^{3}, & b=d=9 c_{3}^{3}-4 c_{2}^{3}>0, & c=6 c_{1} c_{2} c_{3}, & c_{1}^{3}+3 c_{3}^{3}=2 c_{2}^{3},
\end{array}
$$

for certain pairwise coprime integers $c_{1}, c_{2}, c_{3}$.

Similarly, for (1.5), we obtain

$$
\begin{array}{rrrr}
a=c_{1}^{3}, & b=d=c_{2}^{3}-c_{1}^{3}>0, & c=c_{1} c_{2} c_{3}, & c_{3}^{3}+2 c_{1}^{3}=3 c_{2}^{3}, \\
a=c_{1}^{3}, & b=d=4 c_{2}^{3}-c_{1}^{3}>0, & c=2 c_{1} c_{2} c_{3}, & c_{1}^{3}+c_{3}^{3}=6 c_{2}^{3}, \\
a=c_{1}^{3}, & b=d=2 c_{2}^{3}-c_{1}^{3}>0, & c=2 c_{1} c_{2} c_{3}, & c_{1}^{3}+2 c_{3}^{3}=3 c_{2}^{3}, \\
a=9 c_{1}^{3}, & b=d=c_{2}^{3}-9 c_{1}^{3}>0, & c=3 c_{1} c_{2} c_{3}, & 6 c_{1}^{3}+c_{3}^{3}=c_{2}^{3}, \\
a=3 c_{1}^{3}, & b=d=c_{2}^{3}-3 c_{1}^{3}>0, & c=3 c_{1} c_{2} c_{3}, & 3 c_{1}^{3}+2 c_{3}^{3}=c_{2}^{3}, \\
a=3 c_{1}^{3}, & b=d=2 c_{2}^{3}-3 c_{1}^{3}>0, & c=6 c_{1} c_{2} c_{3}, & 6 c_{3}^{3}+c_{1}^{3}=c_{2}^{3}, \\
a=3 c_{1}^{3}, & b=d=4 c_{2}^{3}-3 c_{1}^{3}>0, & c=6 c_{1} c_{2} c_{3}, & 2 c_{1}^{3}+3 c_{3}^{3}=c_{2}^{3}, \\
a=9 c_{1}^{3}, & b=d=2 c_{2}^{3}-9 c_{1}^{3}>0, & c=6 c_{1} c_{2} c_{3}, & 3 c_{1}^{3}+2 c_{3}^{3}=c_{2}^{3}, \\
a=9 c_{1}^{3}, & b=d=4 c_{2}^{3}-9 c_{1}^{3}>0, & c=6 c_{1} c_{2} c_{3}, & 3 c_{1}^{3}+c_{3}^{3}=2 c_{2}^{3},
\end{array}
$$

for certain pairwise coprime integers $c_{1}, c_{2}, c_{3}$.
Therefore Corollaries 1.3 and 1.4 follow from the above 18 equations and Lemma 2.9.

## References

[1] M. A. Bennett, 'Products of consecutive integers', Bull. Lond. Math. Soc. 36 (2004), 683-694.
[2] H. Darmon and L. Merel, 'Winding quotients and some variants of Fermat's last theorem', J. reine angew. Math. 490 (1997), 81-100.
[3] L. E. Dickson, History of the Theory of Numbers: Diophantine Analysis, Vol. 2 (G. E. Stechert, New York, 1934).
[4] P. Erdős and J. L. Selfridge, 'The product of consecutive integers is never a power', Illinois J. Math. 19 (1975), 292-301.
[5] M. Lakhal and J. W. Sander, 'Rational points on the superelliptic Erdős-Selfridge curve of fifth degree', Mathematika 50 (2003), 113-124.
[6] K. A. Ribet, 'On the equation $a^{p}+2^{\alpha} b^{p}+c^{p}=0^{\prime}$, Acta Arith. 79 (1997), 7-16.
[7] J. W. Sander, 'Rational points on a class of superelliptic curves', J. Lond. Math. Soc. 59 (1999), 422-434.
[8] N. Saradha and T. N. Shorey, 'Almost perfect powers in arithmetic progression', Acta Arith. 99 (2001), 363-388.
[9] N. Saradha and T. N. Shorey, 'Almost squares and factorisations in consecutive integers', Compositio Math. 138 (2003), 113-124.
[10] E. Selmer, 'The diophantine equation $a x^{3}+b y^{3}+c z^{3}=0$ ', Acta Math. 85 (1951), 203-362.

## ZHONGYAN SHEN, Department of Mathematics, Zhejiang University, Hangzhou 310027, Zhejiang, PR China and <br> Department of Mathematics, Zhejiang International Study University, Hangzhou 310012, Zhejiang, PR China <br> e-mail: huanchenszyan@yahoo.com.cn

TIANXIN CAI, Department of Mathematics, Zhejiang University, Hangzhou 310027, Zhejiang, PR China e-mail: caitianxin@hotmail.com, txcai@zju.edu.cn


[^0]:    The first author was supported by the Educational Commission of Zhejiang Province of China, Grant No. Y200803340, and Foundation of Zhejiang International Study University, Grant No. 09Z08. The second author was supported by the National Natural Science Foundation of China, Grant No. 10871169.
    (C) 2011 Australian Mathematical Publishing Association Inc. 0004-9727/2011 \$16.00

